

117 East Columbus Avenue Suite 100 • Bellefontaine, Oh 43311 commissioners@co.logan.oh.us (office) 937-599-7283 • (fax) 937-599-7268

Joe Antram + Paul Benedetti + Mark Robinson

Brian Dunn Special Projects Coordinator DeDe Doss

Resolution No. 102-21

The Logan County Board of Commissioners met in regular open session on this date of April 8, 2021 with full board present

Mr. Mark Robinson moved that the following resolution be adopted:

RE: AWARD BID TO LIGHTLE ENTERPRISES OF OHIO, LLC- SIGNS AND POSTS LOGAN COUNTY ENGINEER

WHEREAS, bids were received on April 6, 2021 for the Logan County Engineer Signs and Posts, and

WHEREAS, two bids were submitted from Lightle Enterprises of Ohio, LLC and American Roadway Logistics, and

WHEREAS, the bids have been reviewed by the Logan County Engineer Office and a recommendations has been made to accept the bid from Lightle Enterprises of Ohio, LLC in the amount of \$36,415.95 and enter into a contract for the same, and

THEREFORE, BE IT HEREBY RESOLVED, by the Logan County Board of Commissioners to accept the bid of Lightle Enterprises of Ohio, LLC in the amount of \$36,415.95 and enter into a contract for the same.

Mr. Joe Antram seconded the motion.

Roll call resulted as follows:

Mr. Paul Benedetti, President

Mr. Mark Robinson, Vice President

Mr. Joseph M. Antram, Member

I, De Doss, Clerk/Administrator, hereby certify this to be a true copy of the proceedings as taken from the minutes of the meeting of the Logan County Commissioners on this date of April 8, 2021.

De De Doss, Clerk/Administrator

OFFICE OF THE LOGAN COUNTY ENGINEER P.O. BOX 427

1991 COUNTY ROAD 13 BELLEFONTAINE, OH 43311

www.lceo.us

SCOTT C. COLEMAN, P.E., P.S. LOGAN COUNTY ENGINEER

Telephone: (937) 592-2791

Fax: (937) 599-2658

- DUARD OF

CUMMISSIONERS

April 07, 2021

The Honorable Board of Logan County Commissioners 117 E. Columbus Avenue, Suite 100 Bellefontaine, OH 43311

Re: Signs and Posts Bid

April 06, 2021 at 11:00AM

PER TRESEUTION

MOTIFIE

2111.

Gentlemen:

I have reviewed the responsive bids received on the above item and the bid tabulation is listed below.

Company	Bid
Lightle Enterprises of Ohio, LLC.	\$36,415.95
American Roadway Logistics	\$49,289.25

Therefore, we recommend that your honorable board adopt a resolution awarding the bid to Lightle Enterprises of Ohio, LLC, 22 E Springfield St., P.O. Box 329, Frankfort Ohio 45628 in the amount of thirty-six thousand four hundred fifteen dollars and ninety-five cents (\$36,415.95) and enter into a contract for the bid amount.

In accordance with ORC 9.24, we have checked the Auditor of State's Unresolved Findings for Recovery Database and SAMS (the federal system for awards management). Lightle Enterprises of Ohio, LLC was not listed and we have retained the certified search confirmation pages in the project file.

This will be paid from Auto and Gas Funds and Federal Aid Funds.

Respectfully submitted

Scott C. Coleman, P.E., P.S.

Logan County Engineer

SCC/wtb

Solicitation Information

Logan County Engineer's Office

Solicitation Number

2021 Logan County - Sign Upgrade

Deadline

04/06/2021 11:00 AM EDT

Advertised

03/16/2021 11:00 AM EDT

Description

PID # 113867 2021 Logan County, Ohio - Sign Upgrade Estimate - \$29,879.80 DBE Goal - 0%

Bidders

Business Name	Address	Phone
Lightle Enterprises of Ohio, LLC	22 E Springfield St. Frankfort, OH 45628	(740) 998-5363
American Roadway Logistics	2661 Barber Road Norton, OH 44203	(330) 659-2013
2 Bidders		

Item	Quantity	Lightle Enterprise		Quantity	American Road	
iteili	Qualitity	Price	Extension	Quality	Price	Extension
SIGNS: Blank	s					
15x30 YB H 15" X W 30" Yellow with Black Border Each	25.0000	\$15.56	\$389.00	25.0000	\$17.47	\$436.75
8x24 FYGB H 8" X W 24" Fluorescent Yellow Green with Blac Each	25,0000	\$7.87	\$196.75	25.0000	\$7.45	\$186.25
10x30 FYGB H 10" X W 30" Fluorescent Yellow Green with Bla	25.0000	\$12.23	\$305.75	25.0000	\$16.97	\$424.25
18x24 FYGB H 18" X W 24" Fluorescent Yellow Green with Bla	25.0000	\$17.61	\$440.25	25.0000	\$25.12	\$628.00
24x24 GW H 24" X W 24" Green with White Border Each	25.0000	\$19.88	\$497.00	25.0000	\$22.38	\$559.50
30x30 OB H 30" X W 30" Orange with Black Border Each	25.0000	\$31.06	\$776.50	25.0000	\$44.02	\$1,100.50
B0x30 WB H 30" X W B0" White with Black Border Each	100.0000	\$31.06	\$3,106.00	100.0000	\$34.94	\$3,494.00

Item	Quantity	Lightle Enterprises Price	of Ohio, LLC Extension	Quantity	American Road Price	way Logistics Extension
6x30 WB H 6" X W 30" White with Black Border Each	50.0000	\$6.25	\$312.50	50.0000	\$8.51	\$425.50
10x12 W H 10" X W 12" White with no Border, no holes Each	25.0000	\$4.90	\$122.50	25.0000	\$4.67	\$116.7
1.5x12 W H 1 1/2" X W 12" White with no Border (Engineer Each	25.0000	\$1.20	\$30.00	25.0000	\$2.81	\$70.25
T-3"PRY 3' Post Reflector (Yellow) Each	300.0000	\$3.73	\$1,119.00	300.0000	\$4.20	\$1,260.00
T-3"FYG 3' Post Reflector (Fluorescent Yellow Green) Each	150.0000	\$4.40	\$660.00	150.0000	\$6.27	\$940.50
SIGNS: Comp	lete and Specia	al				
W20-3F 30"x30" Road Closed Flip Sign (Black on Orange) Each	20.0000	\$51.06	\$1,021.20	20.0000	\$38.00	\$760.00
36x36 Special 36" X 36" FRESH TAR/ LOOSE STONE (Black on Orange) Each	150.0000	\$44.73	\$6,709.50	150.0000	\$63.38	\$9,507.00

		Lightle Enterprises of Ohio, LLC			American Roadway Logistics	
Item	em Quantity Price Extension Quantity	Price	Extension			
T10-GRBP						
10 Ft 3 Lb				500.000	000.44	440 705 00
Rib Back Post	500.0000	\$28.00	\$14,000.00	500.0000	\$39.41	\$19,705.00
Fost Each						

Item	Quantity	Lightle Enterprise	es of Ohio, LLC Extension	Quantity	American Road	way Logistics Extension
POSTS: Gal	vanized Rib Ba	ck				
T7-GRBP						
7 Ft 2 lb Rib Back	500.0000	\$13,46	\$6,730.00	500.0000	\$19,35	\$9,675.00
Post Each	300.0000	ψ10.40	\$0,700.00	000.000	VIO.00	
16 Items	Totals:		\$36,415.95			\$49,289.2

General Info

Total:

\$36,415.95

Number

2021 Logan County - Sign Upgrade

Deadline

04/06/2021 03:00 PM UTC

Vendor

Lightle Enterprises of Ohio, LLC

Submitted

04/06/2021 11:48 AM UTC

Signed by

David Lightle

Opened

04/06/2021 03:03 PM UTC By tbumgardner@lceo.us

Description

PID # 113867 2021 Logan County, Ohio - Sign Upgrade Estimate - \$29,879.80 DBE Goal - 0%

Allows zero unit prices and labor

Yes

Allows negative unit prices and labor

Yes

Page 1 of 18 04/07/2021

ATTACHMENT LIST

```
113867 - 2021 Sign Upgrade NTB.pdf (201 KB)
```

113867 - 2021 LOG Sign Upgrade General Notes.pdf (258 KB)

113867 - 36x36 Special Sign.pdf (125 KB)

113867 - Fed Bid Template.pdf (1.29 MB)

ADDENDUM

Addendum Acknowledgement: (Click "+" to add additional fields) (Type "N/A" if not applicable)

Addendum Number: *

N/A

Addendum Date: *

N/A

AFFIDAVIT - CAMPAIGN CONTRIBUTIONS

Ohio Revised Code Section 3517.13(I) requires that no agency or department of this state or any political subdivision shall award any contract, other than one let by competitive bidding or a contract incidental to such contract or which is by force account, for the purchase of goods costing more than five hundred dollars or services costing more than five hundred dollars to any individual, partnership, association, including, without limitation, a professional association organized under Chapter 1785 of the ORC, estate, or trust if the individual has made or the individual's spouse has made, or any partner, shareholder, administrator, executor, or trustee or the spouse of any of them has made, as an individual, within the two previous calendar years, one or more contributions totaling in excess of one thousand dollars to the holder of the public office having ultimate responsibility for the award of the contract or to the public officer's campaign committee. Furthermore, Ohio Revised Code Section 3517.13(J) requires that no agency or department of this state or any political subdivision shall award any contract, other than one let by competitive bidding or a contract incidental to such contract or which is by force account, for the purchase of goods costing more than five hundred dollars or services costing more than five hundred dollars to a corporation or business trust, except a professional association organized under Chapter 1785 of the ORC, if an owner of more than twenty per cent of the corporation or business trust or the spouse of that person has made, as an individual, within the two previous calendar years, taking into consideration only owners for all of that period, one or more contributions totaling in excess of one thousand dollars to the holder of a public office having ultimate responsibility for the award of the contract or to the public officer's campaign committee. Execution of this proposal on the signature portion thereof shall constitute also signature of this Campaign Contributions Affidavit.

Page 4 of 18 04/07/2021

AFFIDAVIT - NON-COLLUSION

In accordance with Title 23 United States Code, Section 112 and Ohio Revised Code, Chapter 1331 et. seq: and Sections 2921.11 and 2921.13, the bidder hereby states, under penalty of perjury and under other such penalties as the law provides, that he or his agents or employees have not entered either directly or indirectly into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with this proposal. Execution of this proposal on the signature portion thereof shall constitute also signature of this Non-Collusion Affidavit.

Page 5 of 18 04/07/2021

AFFIDAVIT - PERSONAL PROPERTY TAX

PERSONAL	PROPERTY	TAX	*
LEVOONYE	FROFERIT	100	

See Below

Page 6 of 18 04/07/2021

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - SOLE PROPRIETORSHIP

Optional: Vendor is ı	not required to complete.			
STATE OF OHIO:				
: ss:				
LOGAN COUNTY:				
The undersigned, be Ohio, and that:	ring duly sworn, says that he is o	r represents a competitive bidd	der doing business in, or with Loga	n County,
No bid				
The business add	ress of the bidder is: *			
No bid				
Telephone: *				
No bid				
The undersigned t	further says that the bidder a	t the time of submitting hi	s or its bid: *	
No bid				
Delinquent Propapply):	erty Taxes As Follows (click	"+" to create additional en	tries. Type "N/A" if this section	n does not
YEAR: *	AMOUNT: *	PENALTY: *	INTEREST: *	
No bid	No bid	No bid	No bid	
Signature: *				
No bid				
Title: *				
No bid				

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - SOLE PROPRIETORSHIP

DBA				
Optional: Vendor is	not required to complete.			11-11
STATE OF OHIO:				
: ss:				
LOGAN COUNTY:				
The undersigned, be Ohio, and that:	eing duly sworn, says that he is o	represents a competitive bidd	er doing business in, or with Logan Cour	ity,
No bid				
of: *				
No bid				
The business add	Iress of the bidder is: *			
No bid				
Telephone: *				
No bid				
The undersigned	further says that the bidder a	t the time of submitting his	s or its bid: *	
No bid				
Delinquent Prop	erty Taxes As Follows (click	"+" to create additional en	ries. Type "N/A" if this section does	s not
YEAR: *	AMOUNT: *	PENALTY: *	INTEREST: *	
No bid	No bid	No bid	No bid	
Signature: *				
No bid				
Title: *				
No bid				

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - PARTNERSHIP

Optional: Vendor is no	ot required to complete.			
STATE OF OHIO:				
: ss:				
LOGAN COUNTY:				
The undersigned, beir Ohio, and that:	ng duly sworn, says that he is o	r represents a competitive bidd	ler doing business in, or with Loga	ın County,
✓He is a general par	tner of the partnership *			
known as: *				
Lightle Enterprisesof	Ohio,LLC			
The business addre	ess of the bidder is: *			
22 E Springfield St. F	rankfort,OH 45628			
Telephone: *				
(740) 998-5363				
The undersigned fu	urther says that the bidder a	t the time of submitting his	s or its bid: *	
Was not charged with	any delinquient personal taxes	in Logan County, Ohio.		
Delinquent Prope apply):	rty Taxes As Follows (click	"+" to create additional en	tries. Type "N/A" if this sectio	n does not
YEAR: *	AMOUNT: *	PENALTY: *	INTEREST: *	
2020	\$.00	\$.00	\$.00	
Signature: *				
David R Lightle				
Title: *				
Member				

COMPETITIVE BIDDER'S PERSONAL PROPERTY TAX AFFIDAVIT - CORPORATION

Optional: Vendor is not require	d to complete.		
STATE OF OHIO:			
: ss:			
LOGAN COUNTY:			
The undersigned, being duly so Ohio, and that:	worn, says that he is or repres	sents a competitive bidder doin	ng business in, or with Logan County,
No bid			
named: *			
No bid			
The business address of the	ne hidder is: *		
No bid			
Telephone: *			
No bid			
-		to a section testing the section of	. h.: *
The undersigned further sa	lys that the bidder at the t	ime of submitting his or its	s bia: "
No bid			
Delinquent Property Taxe apply):	s As Follows (click "+" to	create additional entries.	Γype "N/A" if this section does not
YEAR: *	AMOUNT: *	PENALTY: *	INTEREST: *
No bid	No bid	No bid	No bid
Signature: *			
No bid			
Title: *			
No bid			

BIDDER INFORMATION

Company *

Lightle Enterprises of Ohio, LLC

Submitted by *

David Lightle

Street, Post Office, City, State and Zip: *

22 E Springfield St. P. O. Box 329, Frankfort, OH 45628

Telephone *

(740) 998-5363

Federal Tax ID# *

20-8135704

Item Code	Description	Quantity	Units	Unit Price	Extension
15x30 YB	H 15" X W 30" Yellow with Black Border	25.0000	Each	\$15.56	\$389.00
8x24 FYGB	H 8" X W 24" Fluorescent Yellow Green with Black Border	25.0000	Each	\$7.87	\$196.75
10x30 FYGB	H 10" X W 30" Fluorescent Yellow Green with Black Border	25.0000	Each	\$12.23	\$305.75
18x24 FYGB	H 18" X W 24" Fluorescent Yellow Green with Black Border	25.0000	Each	\$17.61	\$440.25
24x24 GW	H 24" X W 24" Green with White Border	25.0000	Each	\$19.88	\$497.00
30x30 OB	H 30" X W 30" Orange with Black Border	25.0000	Each	\$31.06	\$776.50
30x30 WB	H 30" X W 30" White with Black Border	100.0000	Each	\$31.06	\$3,106.00
6x30 WB	H 6" X W 30" White with Black Border	50.0000	Each	\$6.25	\$312.50
10x12 W	H 10" X W 12" White with no Border, no holes	25.0000	Each	\$4.90	\$122.50
1.5x12 W	H 1 1/2" X W 12" White with no Border (Engineer Grade)	25.0000	Each	\$1.20	\$30.00
T-3"PRY	3' Post Reflector (Yellow)	300.0000	Each	\$3.73	\$1,119.00
T-3"FYG	3' Post Reflector (Fluorescent Yellow Green)	150.0000	Each	\$4.40	\$660.00
				1	Total: \$7,955.25

Item Code	Description	Quantity Units	Unit Extension
W20-3F	30"x30" Road Closed Flip Sign (Black on Orange)	20.0000 Each	\$51.06 \$1,021.20
36x36 Special	36" X 36" FRESH TAR/LOOSE STONE (Black on Orange)	150.0000 Each	\$44.73 \$6,709.50
			Total: \$7,730.70

Item Code	Description	Quantity	Units	Unit Price	Extension
T10-GRBP	10 Ft 3 Lb Rib Back Post	500.0000	Each	\$28.00	\$14,000.00
T7-GRBP	7 Ft 2 lb Rib Back Post	500.0000	Each	\$13.46	\$6,730.00
					Total: \$20,730.00

REQUIRED DOCUMENTS LIST

Omission Terms	Submitted File	
I have electronically verified my bid bond in the "Bid Bond" section above.	OH Logan Co. Bid Check 04-06-21.jpg	
l will furnish prior to contract award	I am not enclosing this document because the omission terms have been met.	
I will furnish prior to contract award	I am not enclosing this document because the omission terms have been met.	
	I have electronically verified my bid bond in the "Bid Bond" section above. I will furnish prior to contract award	

BID GUARANTY

As specified in the Ohio Revised Code 153.54, a bidder must submit a bid guaranty in the form of either:

- (1) a paper contract bond for the full amount (100%) of the bid, or
- (2) a certified check, cashier's check, or letter of credit in the amount of 10% of the bid.
- (3) an electronic bid bond for 10% of the bid.

Bond Percentage

10.00%

Guarantee Method*

Paper Bid Bond, Certified Check, Cashier's Check, Letter of Credit, or Paper Contract Bond

- √ understand that in addition to the project Owner, ODOT shall be named as an obligee. *
- understand that original, wet-ink bid guaranty documents will be recieved "within 3-days post bid deadline." *

Paper Bid Bond, Certified Check, Cashier's Check, Letter of Credit, or Paper Contract Bond Confirmation *

I have provided a Cashier's Check for 10.00% of the bid total amount and have uploaded a copy in the Required Documents List at the bottom of this solicitation.

ODOT - LPA TEMPLATE COMPLIANCE and BIDDERS CERTIFICATION:

ODOT - LPA TEMPLATE COMPLIANCE:

The bidder hereby certifies that he (1) has,	has not,	participated	in a previous	contract or	subcontract	subject to the
equal opportunity clause, as required by Execu	itive Orders	10925, 11114	1, or 11246.			

(1) The Bidder must indicate the appropriate "has or has not" from above *

and that he (2) has, has not, filed with the Joint Reporting Committee, the Director of the Office of Federal Contract Compliance, a Federal Government Contract Compliance, a Federal Government contracting or administering agency, or the former President's Committee on Equal Employment Opportunity, all reports due under the applicable filing requirements.

(2) The Bidder must indicate the appropriate "has or has not" from above* *

BIDDER'S CERTIFICATION:

The undersigned, being a duly authorized officer of the prime contract bidder, does hereby certify to and agree to all the required contract provisions and documents outlined within the ODOT - LPA Template, final plans, wage rates, utility notes, proposal notes, and bidders notices each furnished in their entirety within the attachment list above.

The undersigned, being a duly authorized officer of the prime contract bidder, does hereby agrees to furnish all labor, materials, and equipment for the (project listed in the general info section) and perform all work incident thereto in accordance with the plans and specifications thereof and subject to the satisfaction and acceptance by the County Engineer at the unit prices provided on the proceeding pages.

The undersigned, being a duly authorized officer of the prime contract bidder, does hereby agrees to enter into a contract within ten (10) days; to complete the said improvement and will furnish the required bond for the payment of all bills for damages, labor, and material arising from the construction of said improvement.

Signature of Authorized Officer: *
David R Lightle
Date:// *
04/06/2021
Title: *

Member